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TAY FHO-US o W Ui SR % SER TR sw-we ° <4 €

3T o |t T I SW-T9F H T & 9% A THeT & A W had SW-TAh Teieish
Tig | YR 19 T Te0 gk o W i STEf 2

Fed wM & AU o, Teror gfesh & of ® Hord g
TAd 3T @ fag qus
[T gl W SHiearR gRT feu 7w e SRt & few que feam smom

(i) W% Yo % T 9N Sehfeus S 81 SEHICER gR Yo% 99 & foig XU 7Y Uk e SwR h
fore wea ?q fraa foe @ i &1 TH-faeE qve & &9 H e S

(i) % =+ SHER TH 9 3ffush ST a1 €, a 38 Tord ST OAE S, Tafy Ry e sw o 9
T S GE Bl ®, R ot 39 e & fory SugNER @ SH @e % us e S|

(i) A SHITIR g FE T Tt &l R S @ orefq SEiRaR g0 SW Al e S €, sS4
WA % g g gue & e s

W ¥ Gaifd e /3mata: afE o B @ § A o ISl okl Weifud S i STeedshd
T A TAEH FI AERIHA €, A 9 GEEH SHEN % WY § WAad, 2024 (YW 4:00 §X) H
anubhav@nextias.com T - R HHhd 2l

e ek MUkl I€ UXISIUT YRaehT WieH ol 7 el WY a& deh 7 @iei|




DO Not OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

10.

1.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES Not HAVE ANY UNPRINTED OR TORN OR MISSING
PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series A or B carefully and without any omission or discrepancy at the appropriate places
in the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable for

rejection.

You have to enter your Roll Number on the

Test Booklet in the box provided alongside.

This Test Booklet contains 100 items (Questions). Each item is printed in Hindi and English. Each item
comprises four responses (Answers). You will select the response which you want to mark on the Answer
Sheet. In case you feel that there is more than one correct response, mark the response which you consider
the best. In any case, choose only one response for each item.

You have to mark all your responses ONLY on the separate answer sheet provided. See directions in the
Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet, you
have to fill in some particulars in the Answer Sheet as per instructions sent to you with your Admission
Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.
Penalty for wrong answers:

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN
THE OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a wrong
answer has been given by the candidate, one-third of the marks assigned to that question will be
deducted as penalty.

(i1) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the

given answers happens to be correct and there will be same penalty as above to that question.

(ii1) If question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

Challenge the question: If students feel that either the question(s)/answer(s) needs to be modified or require
clarification, they can email at anubhav@nextias.com with supporting information by 8 January, 2024
(4:00 PM).

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE ASKED TO DO SO
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aRd ¥ §£3 WA &l KU T foave goi &

T (SCS) & e #, fr=fafad wedl ™

fo=am =ifeu:

1. 8 9Rd & Wfou &1 oIqg= 5 °
Sfecfigd Tk grayE 8, S H9rlifas @
qraTSTen-3fefe fUsead &1 T
I T % T § weEar Wi

2. Y SHESA B Al SIS STEE
1 ag1 fewm fave oot &1 i u]H
FE F AGEl § ¥ Th 2

3. 149 fau ST 3 &% &R § fawiie
#1 & fr foodt off w2 1 fagiw goft
1 IS el fean S =nfeu

swdw o 9 fRad wud W €2

(a) ol Th

(b) wad

(c) gt T

(d) *E ot T

ORd § Ul TS SRl & Ged H,

frafafea waaf w fa=mr Sifsa:

1. o9 /@ ¥ Afus & ERr o T
¥ AeAadl W W YAdl i TeH
1 STEvIRal el 2l

2. TIEdl & A wH o R
e A § fifed ®, S IR g
AT 1 GHY @1 § HH Bl 2

3. fodt duma &t gt 9 dema e &
yrRites fratem & ¥ gy feted
S IF U AR R 9l S

Sudh O T e @ €2
(a) “hed TH

(b) Haa I

(c) @t =

(d) =g off T

(4-A)

&t oftoet & e o, frefafaa wemt ™

fo=m sifsa:

1. T &% o9 W HEYUTCd i
3Ted foefad & & fau 9 gieq
sAfufEd, 1956 gW &= aiwel =
T &1 TE 2

2. W9 THedl 1 esg uResl § @i
whatfeea &l 2

3. W% &9 (W) H wiHd T
T i STUR W 39 & & fag
gt uftug & o1 & ¥ H B
F €

4. SH-gEl TF e TEE, e, U ek
fosirg iw &g oftosl o 9 feet o
off wnfe =& B

Sudw o § forad wed wEl 872

(a) o Th

(b) Had JA

(c) Had A

(d) =t =R

freafafea woAl w faar wifsmw:

1. 9 & U, T69 i Tal ST
& TeEl w1 Fgfe awd ®, dferd s
IE 3% M & v el el Bl

2. U9 & TAUA &1 Hhad T3 fagrmed
% Hehed g T ST

3.  TeYahl T & JERTAd U8 SRl
T 2

ST 9 9 T wum we 22

(a) “hed TH

(b) Had JA

(c) =t =

(d) = & T

aRd | fatem & 93 o, frafafea st

R foar sifeq:

. 9Rd & Uxufd & fa=m & fau
Tl difen weiel (S TH.) &
S & fehen S 2

2. A% ‘STYw A ¥ *iE T’ (NOTA) =i
Hog fsh A9 W B €, A O HE
% i ;T At fRT S 2

www.nextias.com



NEXT IAS

‘én[i%ﬁ‘é?-iBﬁz | AllIndia Open Mock Test-1

1.

©Copyrightt NEXT IAS

Consider the following statements regarding
the Special Category Status(SCS) accorded
to certain states in India:

1. Itisa provision mentioned in Schedule
5 of the Constitution of India to
assist the development of States that
face geographical or socio- economic
disadvantages.

2. Low population density or sizeable
share of tribal population is one of the
criteria for granting SCS.

3. The 14th Finance Commission has
made a recommendation to the Union
government that no State be accorded
the SCS.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

With reference to Panchayati Raj Institutions

in India, consider the following statements:

1. Panchayats at the intermediate level
need not be constituted in a State
having a population not exceeding
twenty lakhs.

2. Responsibility for conducting elections
to the Panchayats is vested in the State
Election Commission that works under
the overall supervision of Election
Commission of India.

3. All the seats in a Panchayat shall be
filled by persons chosen by direct
election from territorial constituencies
in the Panchayat area

How many of the statements given above is/
are correct?
(a) Only one

(b) Only two
(c) All three
(d) None

(5-A)

With reference to the Zonal councils,

consider the following statements:

1. Zonal Councils have been established
by the State Reorganisation Act,1956
to develop the habit of cooperative
working among states.

2. Union territories do not have any
representation in zonal councils.

3. Chief Ministers of the States included
in each zone act as Chairman of the
Zonal Council for that zone by rotation.

4. North-Eastern States of Assam,
Meghalaya, Tripura, and Mizoram are
not included in any of the five zonal
councils.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Consider the following statements:

1. The Governor of the state appoints the
members of the State Public Service
Commission, but does not have the
power to remove them.

2. Governor of the state shall be removed
only by a resolution of the state
legislature.

3.  The Advocate General holds office
during the pleasure of the Governor.

How many of the statements given above

are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

With reference to the elections in India,

consider the following statements:

1. Electronic Voting Machines (EVMs)
are not used for the election of the
President of India.

2. If None of the Above (NOTA)
receives the highest number of votes,
a re-election is conducted within six
months.

www.nextias.com
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3. TH UoHifae IA TR A & &I H
Il 9T e 1 9T B S ®, 9
I HY-Y-FT IR TA B TF A
(V2 udl) & &9 | 7r=ar il 2l

Swdth W 9 ferad e wE ®7?

(a) FId TH

(b) wad

(c) gt T

(d) =g o T

aRd & GfauA & §ed #, fAfataad &

q wE-T “fafeel & wEE g ug @

Tatam fHfeanef 22

(a) 9Rd & TFed & i audt =Atea &
Y A A H THH HdeR R
STE|

(b) fedt «ff =afe = wa o fedr o
o) &t sTafeefal

(c) ToF TSR 3R ToHifaeh &5 W TaM
W g & & fau staam @
F WY S-S HIEN T Hehell B

(d) fafa= =1 = foe anffg foumm (T
TFTITA) 1 STgafa a1

frafafaa wuAl w fomm Sifsu:

1. fod@t Smonfa = fedt fave = &
oy H SAgfad SeMd % ®9 H
sifgfad &9 & fau ™= & TIuw
1 WHY SEYIE B

2. fordlt OEE 1 Agfad S % €9
¥ Tifd & dadt gece dfaum o
e w9 § Sfeafad 78 7

3. 9RdE 99U & STeR] 164 & e,
T SN SHEEA o 9 T84T
T SASE S T Y9 Th Bl
2

Swdth W 9 ferad e wE ®7?
(a) “hed TH

(b) FHaA

(c) gt T

(d) g ot T

(6-A)

T fafues, dan feaw & wsd o, ffafea

HoA W fo=ar wifsu:

woA-1: fafye dar Wit grR1 98M &t
S et fafa= dansti & aR H @i w6l
STTEE wH % fau gfged 9 qgER @i
ity fafud dar fegg wAmEn i 2

HIA-I1: AN I ARG =T IH FH B

faw 9 &R, 1995 % 9Rd ¥ gl Al

3TeTerd ATifra &1 e et

swie weo @ an #, frefatas @ @

HE-F TH T T2

(a) HUA-1 3R weA-11, I T& € an
FeA-11, HUA-1 1 &l e 2

(b) FUA-1 R HUA-11, T T & qen
FUA-11, HeH-1 H T& =0 T 2

(c) F®oA-1 9l 2, fhq FHeA-11 o 2

(d) w¥F-1 T B, foRq weE-11 @ 2l

yerd freemer ($€1) & ded #, frefafed

Fodl W =R Hifv:

1. vadd freemer™ (32 u snfeis giwan
% &9 § & F 2

2. I8 fou waem & o faum &
g R § 2l

3. e et g1 wRer IR qeend nidfateEy
F TwAm  AHTIH  (COFEPOSA),
1974 &% T&d T WASh ToHl & ®9
o @ & 2

Sudw o 9 frad wed wEl 872
(a) oA Th

(b) wad

(c) @t I

(d) = ot T&F
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3. A political party becomes eligible to
be recognised as a national party if it
has got recognition as a state party in
at least four states.

How many of the statements given above
1s/ are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

With reference to the Constitution of

India, which of the following is the best

implication of the term “Equal Protection

of Laws™?

(a) All persons within territory of India
shall be treated equal in judicial matters

(b) Absence of any privilege in favor of
any individual

(c) States can treat unequals differently to
create a level playing field in the social
and political sphere.

d) Allowing Class Legislation for
different classes.

Consider the following statements:

1. Consultation with Governor of the
State is required for notifying a tribe
as Scheduled Tribe with respect to a
particular State.

2. The criteria ~ for  designating
communities as Scheduled Tribes
are not explicitly outlined in the
Constitution.

3. Under Article 164 of the Constitution
of India, there shall be a Minister in
charge of Tribal Welfare in every state
having substantial tribal population.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

(7-A)

Consider the following statements in respect
of the National Legal Services Day:

Statement-I: The National Legal Services
Day is celebrated on 9th November every
year to make people aware of the various
services provided by Legal Services
Authorities.

Statement-II: On 9th November, 1995, the
first Lok Adalat was held in India to provide
speedy justice to the people.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-1.

(c) Statement-I is correct but Statement-II
is incorrect.

(d) Statement-I is incorrect  but
Statement-II is correct.

With reference to the Enforcement
Directorate (ED), consider the following
statements:

1. Enforcement Directorate (ED)
functions as both an economic
intelligence agency and a law
enforcement agency.

2. Itisunder the administrative control of
the Department of Revenue, Ministry
of Finance.

3. Itacts as a sponsoring agency under the
Conservation of Foreign Exchange and
Prevention of Smuggling Activities
Act (COFEPOSA), 1974.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

www.nextias.com
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qRd & Gy & feAfatea 8 9 siE-91

9 YEgHE 998 % Al "WEAl % "IER

9gHd | qentya fean/fee s wehar/ed

?/287?

1. = o faum ufesl &1 39

2. el ogEr & fwdl off wEem W
IEASSE]

3. =] S1(W) # Sfeafaa  wifes
FHeAl HT HIMEHA

(a) wae 1 3R 2

(b) Had 2

(c) ad 3

d 1,2 33

Sl et & STER, e fu T usrferentat
Fl =9 9 T w_wT ¥ Faftem sifu:
1. g Tegafa
2. dREHl sTEAE
3. o defud T & i T &+
YTt
4. g9 & fee @5
. g T T
= few 7T 2 YA R T S g
(a) 1-3-4-5-2
(b) 3-1-4-2-5
(€) 1-3-2-4-5
(d) 3-1-2-4-5

frafafad == = faer wifsu:

1. =0 99R, o7& faq 9fa &R
ST 21

2. =9 Al & S i 39 9dd
AR Yy

3. WY ek Yo E % e A geE
1 I @ YIE|

4. 9RG % TAE SIHI hl AT ITh FaY
o 39 9, a9 SR dYE|

13.

14.

15.

(8-A)

STw H ¥ fhad =@ 9Ra &t w@faa fafy
R 9@ 8?2
(a) el ThH
(b) Had I
(c) wHaa A
(d) Tt =R

aRd &t Gfaum 99 & ged ¥, frafafed

Fodl W faar wifs:

1. df9g™ 991 & ¥ Ay €9 9
g faur@mst & 5=t g 9A
T o

2. Y fofew ard wia o el 1 3Tt
ST % AR W, qiem SR
foeral & &= foafa fean T o

3. widra dfaue @fHfd i stemer .
T ot off|

Sudte o 9 e wem wet €72
(a) oA Th

(b) Haa J

(c) =t I

(d) = off T&f

frfafea wot w® foer wifaw:

1. “$EeE"”, fasa 9d U7 & STER &
fore W a1y Toen (9 ) YIREu
anenfia fafea 2

2. ‘et faerd Ot U % T Suetsy
T Rl SUAR 99 T §, S SAfh
Tl e & faIq S T FehaT Bl

3. T 9 W SR Sy, 4 @
grefed ¥ gefud <= # I &
HROT B &

Sudtw o 9 fhad weH wet €72

(a) “hed TH

(b) I A

(c) @t =

(d) = ot T&F

NASA 7 B 9 sifesa wHHed
(DSOC) Teh+teh &I Y& LA & w1
forg fiem =1y fwan?
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Which of the following provisions in the

Constitution of India can be amended by a

simple majority of the two Houses of the

Parliament?

1. Abolition of legislative councils in
states.

2. Repeal any of the provisions of the
Fifth schedule.

3. Amedment of Fundamental Duties
mentioned in Article 51 A.

Select the correct answer using the code
given below:
(a) 1and?2only

(b) 2only
(c) 3only
(d 1,2and3

Arrange the officials given below from

higher to lower rank as per the Table of

precedence:

1.  Former Presidents

2. Speaker of Lok Sabha

of States
respective States

4.  Cabinet Ministers of the Union

5. Chief Election Commissioner

3.  Governors within their

Select the correct order using the codes
given below:

(a 1-3-4-5-2
(b) 3-1-4-2-5
() 1-3-2-4-5
(d 3-1-2-4-5

Consider the following expenditures:

1. Debt charges for which Government of
India is liable

2. Salaries, and Pensions payable in
respect of Judges of High courts.

3. Salary and pensions of chairman and
members of Union public service
commission

4.  Salaries, allowances, pensions

payable to or in respect of Election

commissioners of India.

13.

14.

15.

(9-A)

How many of the above expenditures are
charged on the Consolidated Fund of India?
(a) Only one

(b) Only two

(¢) Only three

(d) All four

Consider the following statements about

Constituent Assembly of India:

1.  Members of the Constituent Assembly
were indirectly elected by members of
Provincial Legislative Assemblies.

2. The Seats in each British Indian
Province were distributed among
General, Muslims and Sikhs as per
their respective populations.

3. Provincial constitution committee was

headed by C Rajgopalachari.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements:

1. “Casgevy” is a bone marrow transplant
based therapy for the treatment of
sickle cell disease.

2.  “Casgevy” has become the only
permanent treatment available for
sickle cell disease which can cure the
person for life.

3. Both Sickle «cell disease and
Thalassaemia are caused by errors in
the gene for hemoglobin.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None
NASA’s Deep Space Optical
Communications (DSOC)  experiment

"piggybacks" on which of the following

www.nextias.com
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(a) oefHE-1 =% rauor figgH 2. Hfimm . SUATRA] I T
(b) H-HYS 5T W Haryd Ad v (Nagging) HeHafd a1 IHaR &
(c) S ofF TG AR JUeAT (3Tsaed) fom wie’t wfewan
(d) T g Helelt TSR YR (R T
l6. ww BfvEst # wed §, Freferan wo 7 SRR ool
T fre i fot it S
1. ‘oimfy wd weee @l sifufem, 1940 > Roach Motel) -
% R, ©R B @ o (Roneh Mot e
shuferli & w9 o onffpa foran T 2 SR o S

2. wWfude ®u wivEmd AMe R o T R ()
mﬂﬂw:ﬁ aﬁﬁT??Iaﬁ ‘im ﬁ'EIT'ET S e e
TRl T, |v.|ru-| TR TESIAMeh  hIfSThTT FH A Y TN
ot wfer 2 F TG F % at

STE® FoA § ¥ FA-TA w222 STEHT AE A

(a) Faa 1 TSI |

(b) o 2 Sww 4 9 fead I wEt gafed 2272

(c) 1 &2 <+ (a) oA Th

(d) T 1 AT 2 (b) Had

17. ®a & ® woem # @ T e "R21/ (©) mﬁ?ﬁ_",

Matrix-M", Freifafga § 9 forad defem 22 (&) = off

(a) TEH TS eh-Toiaes &1 & | 19, o e faeprel (Th.emst.) & @34 o,
¥ TN Al T gow S ﬁt:rFGrF@?rawﬁmfeﬁﬂaﬁm:

(b) UeEwE dfen gm fffd ww 1. = fea-fogd goma fafewon &1 wh
T TS T (Pulse) €, S sfafer ¥ %o i @

(c) THYTAL. BN TR HARAT 1 et W@WWW.W%I

(d) Tl WY TRy g @i T e 2. am A forehrel it sroe fafere
T g, FTH F THE Sl A IRA e

’ M o e €

18. T Ued w9 fesiza faedl (Choices) 3. A saRer § B ol fafme e
A ITANTRA SHHH I Hedd w T, g S fuselt seTet &1 o o gHw
=2 SRt STATeRaiet st i@ 37 e Bt 2
Pom TG e A TR v 4 ot
gehdl €, TS & 1 SR 1 A B g 8 E?

e H, frefafed g | foer st () =t A
. a%he EfET ;. oRER SR SEus d) = G T
(Basket HE a G A L -~ e
Sneaking) a4l F1 ST T 20. TIHTAEd 9 TO9R (ST
fafere. FRERE HE L w=m E’f“
71 T favm i 2 y
T Bq SRS 3. s (THIEH) STH
R 9@ R # g 4. WE WX
fopan S 2?1 5. e Hfea
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space missions to demonstrate its

technology?

(a) Artemis I lunar exploration mission

(b) Psyche mission to a metal-rich asteroid

(c) James Webb Space Telescope
observatory

(d) Perseverance rover on Mars

Consider the following statements regarding

Stem cells:

1. Stem cells are categorized as drugs
according to the Drugs and Cosmetics
Act of 1940 in India.

2. Pluripotent stem cells can form all the
cell types in a human body including
extraembryonic cells.

Which among the following statement/s
given above is/are correct?

(a) 1only

(b) 2only

(c) Both1and?2

(d) Neither 1 nor 2

The term “R21/Matrix-M”, recently seen

in the news, is related to which among the

following?

(a) Arare disease caused by deficiency of
enzyme acid alpha-glucosidase

(b) An antifungal agent produced by
bacteria Rhodococcus

(c) A malaria vaccine recommended by
WHO

(d) Largest comet ever detected by Hubble
Space Telescope

Dark patterns refers to design choices or
user interfaces intentionally crafted to
manipulate or deceive users, leading them to
take actions they might not have intended.
In this regard, consider the following pairs:
1. Basket

Sneaking

Persistent and intrusive
messages or prompts
are employed to
pressure users into
taking a specific action
or making a particular

decision

19.

20.

(1M1 -A)

2. Nagging Adding extra items
or services to a user’s
shopping exercise
without their explicit
consent or knowledge.
3. Roach

Motel

Making it easy for users
to sign up or subscribe
but intentionally
creating obstacles or
confusion when they
try to unsubscribe or
delete their account.

How many of the pairs given above is/ are
correctly matched?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements regarding

Fast Radio Bursts:

1. It is a pulse of radio-electromagnetic
radiation that can last from a few days
to months in space.

2. They are unique from other stellar
explosions in that they produce all
energy in radio waves.

3. These are one-time events in the space
and are always unique when compared
to past events.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following:
1.  Pressure sensors
Accelerometers
Acoustic devices
Stove lighters

A

Quartz watches
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In how many of the processes stated above,
does the phenomenon of Piezoelectricity
find its usage?

(a) Only two

(b) Only three

(¢) Only four

(d) All five

Consider the following statements:

Statement I: Tantalum is a greyish, heavy
and a corrosion resistant metal used in
electronics and semiconductor industries.

Statement II: Tantalum's resistance to
corrosion is due to its natural aversion
to reacting with oxygen, preventing the
initiation of corrosion processes.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-I

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I s
Statement-II is correct

incorrect but

Consider the following statements regarding

Lagrange Points.

1. They are found along the plane of
two objects in orbit around their
common centre of gravity, where their
gravitational forces cancel each other.

2. Till date, only NASA and ISRO have
been able to utilise them for space
explorations.

3. More than 10 Lagrange points have
already been identified between Sun
and Earth.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

23.

24.

25.

(13 - A)

(c) All three
(d) None

Consider the following statements regarding

Lab grown diamonds

1. They have almost the same physical
and chemical properties as natural
diamonds.

2. The method involved in creating
these diamonds is High Pressure Low
Temperature process (HPLT) which
mimics diamond-forming conditions
underground.

3. Moissanite, Cubic Zirconia (CZ), and
White Sapphire are common examples
of Lab grown diamonds.

How many of the statements given above
are correct?
(a) Only one

(b) Only two
(c) All three
(d) None

Statement I: Saturated fats are considered
to be unhealthy for the human heart.

Statement II: Saturated fats increase the
LDL (low-density lipoprotein) cholesterol
level in the blood.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-I

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

Consider the following statements :

Statement-I:  Decrease in  jellyfish
population has been recorded near Kerala
coast in recent years.
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Statement-II: Warmer waters with lower
oxygen are stressful for most aquatic
animals.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-I

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

Which of the following organisations
releases ‘The Rise of Environmental Crime

Report’?
(a) United Nations Environment
Programme.

(b) United Nations Framework Convention
on Climate Change (UNFCCC)

(c) Intergovernmental Panel on Climate
Change

(d) Commission on Crime Prevention and
Criminal Justice.

Certain species of which of the following
organisms make sacrifices of themselves
to protect their offspring by releasing toxic
chemicals from their bodies?

(a) Hawks
(b) Ants
(c) Bats

(d) Dolphins

Consider the following statements regarding

the bats:

1. They are the only mammals on the
earth that can maintain a sustained and
true flight.

2. Recent Genome studies of bats have
revealed their high risk of developing
cancer.

3. Echolocation is used by bats as a way
to navigate and prey in the dark.

29.

30.

31.
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How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Statement I: Mycoplasma bacteria are
inherently resistant to certain antibiotics.

Statement II: Unlike other bacteria,
mycoplasma do not have cell walls.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-1

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is incorrect  but
Statement-II is correct.

Which one of the following organisms have
the ability to regenerate an entirely new
body from a severed arm.?

(a) Chameleons

(b) Starfish

(c) Salamander

(d) Sharks

Statement I: Kigali
the Montreal Protocol aims to reduce
the consumption and production of
hydrofluorocarbons (HFCs).

Statement II: HFCs have the high potential
to deplete the ozone layer.

Amendment to

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-1
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(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is incorrect  but
Statement-II is correct.

With respect to the fluoride pollution,

consider the following statements:

1. Improper disposal of certain consumer
products like batteries and electronic
devices can cause fluoride pollution.

2. Combustion of coal in thermal power
plants can release fluoride in air.

3. Natural weathering of rocks can release
fluoride in groundwater.

How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements: :

1. Fungiareadiverse group of prokaryotic
cells that lack a nucleus and membrane-
bound organelles..

2. Fungi reproduce through both sexual
and asexual means.

3. Fungi are autotrophic as they obtain
energy by process of photosynthesis.

How many of the statements given above
are correct?

Options:

(a) Only one

(b) Only two

(c) All three

(d) None

Which among the following statements best

describes the meaning of the term “Just

transition” in relation to climate change?

(a) It refers to the process of moving
from fossil fuels to renewable energy
sources.

(b) Itmeans greening the economy in a way
that is fair and inclusive to everyone
creating decent work opportunities and
leaving no one behind.

35.

36.

(17 - A)

(c) It means countries with historical
responsibility for climate change
should bear the primary burden of
transitioning to sustainable practices of
developing countries, addressing past
environmental injustices.

(d) It signifies that each country should
take action to combat climate change
based on its current economic capacity
and development status, ensuring a fair
distribution of responsibilities in the
transition to sustainability.

Consider the following statements regarding
The Forest (Conservation) Amendment Act,
2023:

1. The State government requires prior
approval of the Governor of the state
to assign any forest land to a private
entity.

2. The Act specifies some activities that
cannot be carried out in forests, such as
running zoos, safaris, and eco-tourism
facilities.

3. The Bill exempts certain types of
land from the provisions of the Act,
such as forest land along a rail line,
land situated within 100 km from
international borders etc.

How many of the statements given above is/
are correct?
(a) Only one

(b) Only two
(c) All three
(d) None

Consider the following atmospheric
emissions due to stubble burning:

1. Carbon dioxide (CO,)

2. Carbon mono-oxide (CO)

3. Particulate matter ( 2.5 and 10 )

4. Methane (CH,)

Which of the above are included in the Air
Quality Index in India?

(a) 1,2,3and4

(b) 2 and 3 only
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(¢) 2,3 and4 only
(d) 1,3 and4 only

Consider the following statements regarding

Homeostasis of the ecosystem:

1. It is the state when an ecosystem
maintains a biological equilibrium
between the different components.

2. It continues to remain static with the
time and is not subject to any change
as it would lead to catastrophic
imbalances in the ecosystem.

Which of the statements given above is/are

correct?
(a) 1Only
(b) 2 Only

(c) Both1and?2
(d) Neither 1 nor 2

The Balfour Declaration, recently in the
news, is linked to the conflict between
which of the following two countries?

(a) Russia and Ukraine

(b) Eritrea and Ethiopia

(c) Israel and Palestine

(d) Armenia and Azerbaijan

Consider the following statements regarding

L.69 group:

1. L.69 grouping is an exclusive club
of developed and developing nations
aiming at reforms in UN Security
Council (UNSC)

2. The objective of the alliance is not to
abolish veto power but to extend it
to all permanent and non-permanent

greater

developing nations in decision making.

members  for share of

3. India is a member of the group.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

40.

41.

42,

(19 - A)

Consider the following statements regarding

Diplomatic Immunity:

1.  The person of a diplomatic agent shall
be inviolable and shall not be liable to
any form of arrest or detention.

2. A diplomatic shall
immunity from the criminal but not

agent enjoy
civil and administrative jurisdiction of
the receiving State.

3. The immunity of a diplomatic agent
from the jurisdiction of the receiving
State exempt him from the jurisdiction
of the sending State too.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following countries:
1. Saudi Arabia

2. Ethiopia
3. Iran
4.  Yemen

How many of the above countries border
the Red sea?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Consider the following statements regarding
the proposed India-Middle East- Europe
Economic Corridor (IMEC)

1.  The member countries include India,
US, Saudi Arabia, European Union,
Afghanistan, France, Germany, and
Italy.

2.  The project forms part of the Indo-
Pacific Economic Framework for
Prosperity (IPEF) which is seen as a
counter to the Belt and Road Initiative.
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46.

47.

48.
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Which of the statements given above is/are
correct?

(a) 1only

(b) 2only

(c) Both1 and2

(d) Neither 1 nor 2

Consider the following statements regarding

the ‘Black Sea Grain Deal’ -

1. It is an agreement to allow cargo ships
to travel from and to Ukrainian ports.

2. The monitoring of the deal is under
the control of the United Nations and
USA.

How many of the statements given above
are correct?

(a) 1Only

(b) 2 Only

(c) Both1and?2

(d) Neither 1 nor 2

Consider the following pairs:
Regions often :  Reasons for being

mentioned in in news
news
1. Marrakesh Earthquake in
Morocco
2. Benghazi Mediterranean
storm in Libya
3. Nagorno- Center of Armenia-
Karabakh Azerbaijan Conflict

How many of the above pairs are correctly
matched?

(a) Only one

(b) Only two

(c) All three

(d) None

East and Horn of Africa and the Great Lakes
region (EHAGL) has been in news recently
as:

(a) It has been declared a new country

following regional diplomatic
negotiations.

(b) It is hosting the next African Union
Olympics, sparking international
attention.

46.

47.

48.

(21 -A)

(c) It is experiencing severe economic
crises solely due to corrupt government
regimes.

(d) It is a geopolitical term used to refer
to a specific region in Africa known

induced

for conflict and climate

displacements

With reference to Ashokan Inscriptions
on Pillars and Rock edicts consider the
following Pairs:

Inscription Present day
Site location / state
1. Shahbazgarhi : Kandhar
(Afghanistan)
2. Jaugada Odisha
3. Maski Karnataka
4.  Dhauli Madhya Pradesh

How many of the above pairs are correct?
(a) Only one

(b) Only two

(c) Only three

(d) All are correct

With Reference to Sangam literature the

term ‘Muvendar’ refers to:

(a) Officer in the charge of treasury of the
state

(b) Officer in the charge of Elephants and
Horses of Army

(c) Heads of three ruling families of
Pandya, Chola and Cheras.

(d) Most revered Tamil poet

Consider the following statements about

Mahajanapadas in Ancient India:-

1. Kamboja Mahajanapada was extended
till parts of present day Afghanistan

2. Some of the Mahajanapadas had more
than one capital.

3. Vajji and Malla Mahajanpadas were
Republics.

How many of the above statements are
correct?

(a) Only one

(b) Only two

www.nextias.com



’énljﬁhﬁv-iﬁiz | General Studies (Paper-l)

NEXT IAS

49.

50.

51.

©Copyrightt: NEXT IARAS

(c) @t dH
(d) =g ot T
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saferemfeat |

(c) vra-foen (Serarst) o w9 W@ &
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52.

53.

54.
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(c) All three
(d) None

With reference to Modern Indian History,

Max Muller, William Jones, Vincent Smith

were associated with:

(a) British missionaries interested in
spread of education

(b) British officials

Ryotwari tax system

associated  with

(c) British imperialist historians interested
in Indology

(d) British military officers involved in
crushing 1857 revolt

With reference to Science and Technology
developments in Ancient India, consider the
following statements:

1. Indian Smiths were among the first in

the world to manufacture steel.

stated
that the moon rotates around the earth
and earth rotates around the sun.

2. Varahmihira’s Brihatsamhita

3. Apastambha’s book contains names
and information on a large number of
plants and herbs which were used as
medicines to cure diseases.

4.  Ancient Indians were acquainted with
methods of operating cataract, stone
disease and several other ailments.

How many of the above statements are not
correct?

(a) Only one

(b) Only two

(¢) Only three

(d) All four

With reference to Government of India Act

1935, consider the following statements

1. It provided for a bicameral federal
legislature in which Princely states
were given disproportionate weightage.

2. At provincial administration level, the
Governor could veto legislative action.

3.  Governor - General and Governors
were to be appointed by the British

52.

53.

54.

(23 - A)

government and were responsible to
the central and provincial legislature
respectively.

Which of the above statements is/are
correct?

(a) 1only

(b) 2 only

(c) 1and2only

(d) 1 and3 only

With reference to Princely States in Pre-
Independence India, consider the following
statements:

1. In 1921, the Chamber of Princes
was created to crush the nationalist
movements in Princely States.

2. In 1927, All India State Peoples
Conference was founded to coordinate
political activities in different states.

3. In 1939, Subhash Chandra Bose
became the President of All India
State Peoples Conference to express
Congress solidarity with state people’s
struggle.

Which of the above statements is/are
correct?

(a) 1and2only

(b) 2 only

(c) 1and3 only

(d) 2 and 3 only

Mandalams and Sthalas in the Vijayanagara
Empire refer to which of the following?

(a) Temple Architecture Style

(b) Administrative units

(c) Literary works

(d) Military Ranks

Consider the

medieval India:

1. Sur Empire founded by Sher Shah

2. Lodi Dynasty founded by Bahlul Lodi

3. Gujarat Kingdom founded by Zafar
Khan (Muzaffar Shah-I)

4. Mughal Empire founded by Babar

following dynasties of
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STH TGN h ITRT TUA Fk gY &
g3 §, ek %A | Aafeerd Hifau:
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(b) 2-3-4-1
(c) 2-4-3-1
d) 3-2-1-4
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Arrangethe above dynastiesinchronological
order in terms of their year of foundation.
(a) 3-2-4-1

(b) 2-3-4-1
(c) 2-4-3-1
(d) 3-2-1-4

Who among the following rulers of Delhi
Sultanate had declared himself descendent
of Legendary Iranian king Afrasiyab
and administered justice with extreme
impartiality to gain public confidence?

(a) Iltutmish

(b) Balban

(¢) Allauddin khilji

(d) Jalaluddin khalji

With reference to Nagara Style of temple

architecture, consider the
statements:

following

1. River Goddesses (Ganga and Yamuna)
are usually found at the entrance of a
Garbhagriha

2. Sculptures of fierce Dvarapalas or the
door-keepers guarding the temple are a
common feature.

3. A common type of Shikhara in Nagara
style temple is square at base and its
walls curve or slope inward to a point
on a top.

4. Idea of multiple Shikharas in one
temple is popular in Nagara temple
style.

Which of the above statements is/are not
correct?

(a) 1only

(b) 2only

(c) 2and4 only

(d) 3 and4 only

Which of the following famous Sanskrit
plays of Ancient India is based on the
love story between young Brahmana boy
Charudatta and the beautiful daughter of
courtesans?

(a) Mudrarakshasa

(b) Malavikagnimitram

S8.

59.

60.

(25 - A)

(c) Vikramorvasiyam
(d) Mrichchhakatika

With reference to the islands of India,

consider the following statements:

1. Lakshadweep islands are the emerged
part of a mountain chain and lie on a
ridge which extends southward

2. Atolls are a prominent feature found in
Lakshadweep group of islands.

3. The Nine degree channel separates
the Minicoy island from the the other
islands in Lakshadweep

Which of the statements given above is/are

correct?

(a) 1and2only

(b) 2and 3 only

(c) 3only

(d 1,2and3

Consider the following statements about

Indian Agriculture:

1. Rice is grown as a Rabi crop in the
Himalayas and North Western Parts of
the country

2. Karnataka is the largest producer of
Jowar and accounts for more than half
of the country’s jowar production.

3. Cultivation of Pulses in India is largely
concentrated in Eastern India and
Gangetic plains.

How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following Statements:-

1. Indus river, after its origin near the
glacier in Bokhar Chu in Kailash
Mountain Range flows in a north-west
direction in between Pir Panjal and
Shivalik Ranges.
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64.
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(26 - A)
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2. Chambal river rises in the Aravalli
range of Rajasthan and is famous for
its badland topography.

3. Son is a large south bank tributary
of the Ganga and it originates in the
Amarkantak plateau.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements about

mineral wealth in India:-

1. Tertiary Coal
concentrated in Tamil Nadu, Karnataka,
and Southern Odisha.

2. Metallurgical

deposits are only

coal is high grade
Anthracite coal with highest carbon
content.

3. Lignite is a low-grade brown coal with

high moisture content.

Which of the above statements is/are

correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following pairs:-
Protected Area : State

1. Kawal Tiger Telangana
Reserve

2. Ranganathittu : Karnataka
Bird Sanctuary

3.  Dudhwa Uttar Pradesh
National Park

4.  Gorumara West Bengal
National Park

How many of the above pairs are correctly
matched?

(a) Only one pair

(b) Only two pairs

63.

64.

65.

(27 - A)

(c) Only three pairs
(d) All four pairs

Consider the following statements about

Tea plantation in India

1. It was introduced in India by the
British in Nilgiri and Cardamom Hills
of Tamil Nadu.

2. Cool, Dry climate with a temperature
range between 15-20 degree celsius
is well suited for the growth of tea
plantations.

3. Tea plantations are usually grown over
undulating topography of hilly areas
and well drained soils.

How many of the above statement/s is/are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following trees:-
1.  Rosewood

2. Axlewood
3.  White Cedar
4.  Mahogany

How many of the above trees belong to
Tropical Evergreen or Semi Evergreen
forests?

(a) One only

(b) Only two

(c) Only three

(d) All four

Consider the following statements about

Soils in India

1. Red Soil is
rainfall in eastern and southern India.

found in areas of high

2. Laterite Soils develop in the areas with
high temperature and high rainfall.

3. Peaty soils, found in areas of heavy
rainfall and high humidity, have poor
humus content.
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Sudth W 9 farad oA wE ®7?
(a) oA TH

(b) Haa I

(c) =t I

(d) *E ot T

qeat i A=A t@n f=fafaa # o foe o
T g TToRdl 8?2

1. &=

2. @rrterEn

3. TS

4.  aifafa

) fow T F W R wE TR A
(a) hoel 1 3R 3

(b) e 2 3R 3

(c) @ad 2,3 3R 4

(d) ®ad 1, 2 3R 3

frefafad ol | foer wifsu:

. TS SOSHEHE WRYE Hi WEl 3R
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2. 9E-IA-HId TOASHEHE & hi
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. i g9 @ 9 H e )

4. THEN HI WEN ST Hl A TR I
Siedt 21
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(a) “hed TH
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3. Uil U9 AREH BW €, S GR
ool & fou srareeft e 2

69.

70.
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4. g9 (Mist) H ®el (Fog) &1 gam o
F9 T B ? 3R TE AR W e
& W ot ©, 58T T amid S e
9 ferdt 21
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(b) waa
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How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

The equator of the Earth passes through
which of the following countries?

1. Kenya
2. Somalia
3. Brazil
4. Bolivia

Select the correct answer using the codes
given below:

(a) 1and3 only

(b) 2and3 only

(¢) 2,3,and 4 only

(d) 1,2,and 3 only

Consider the following statements:

1. The Strait of Hormuz connects the
Persian Gulf and the Gulf of Oman.

2. Bab el Mandeb Strait connects the Gulf

of Aden and the Red Sea.

3. Socotra Island is located in the Red
Sea.

4. The Gulf of Agaba connects Jordan
with the Red Sea.

How many of the above statements are
correct?

(a) Only one;

(b) Only two

(c) Only three

(d) All four

Consider the following statements:

1. Cirrus clouds are formed at high
altitudes and have a thin, feather-like
appearance.

2. Cumulus clouds are layered clouds
that are formed due to the mixing of air
masses with different temperatures.

3.  Nimbus clouds are shapeless masses
that are opaque to the rays of the sun.

69.

70.

(29 - A)

4.  Mist contains less moisture than fog
and is generally formed in areas where
warm currents meet cold currents.

How many of the above statements is/are
correct?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Consider the following statements:

1.  Tides are caused by the sun and moon’s
gravitational pull and centrifugal force,
which act to counter the balance of
gravity.

2. Spring tides are formed when the sun,
moon, and earth are in a straight line.

3. Surges
effects (winds or atmospheric pressure

caused by meteorological

changes) are more regular and frequent
than tides.

How many of the above statements are
correct?
(a) Only one

(b) Only two
(c) All three
(d) None

With respect to Coriolis force, consider the

following statements:

1. The Coriolis force is maximum at poles
and is absent at the equator.

2. The Coriolis force acts perpendicular
to the pressure gradient

3. The Coriolis force is generated by the
rotation of the earth about its axis.

4. The Coriolis force deflects wind in
the right direction in the Southern
Hemisphere and in the left direction in
the Northern Hemisphere.

How many of the above statements are not
correct?

(a) Only one

(b) Only two
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(c) Only three
(d) All four

How does the Standing Deposit Facility
(SDF) differ from the fixed rate reverse repo
(FRRR)?

1. SDF is a tool of the Reserve Bank of
India to inject liquidity, whereas FRRR
is used for absorbing excess liquidity.

2. The SDF is available on all days of the
week, while the FRRR is only available
on certain days.

3. The SDF does not require any
collateral, while the FRRR does.

How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Which of the following is not a feature of

Perfectly Competitive Market?

(a) The market consists of a large number
of buyers and sellers

(b) Each firm produces and sells
heterogeneous products.

(c) Entry into the market as well as exit
from the market are free for firms

(d) Information is perfect

With reference to the concepts on Inflation,

consider the following statements

1.  Deflation is a decrease in general price
levels throughout an economy

2. Disinflation is a situation when price
inflation slows down temporarily

3. Reflation is a policy that is enacted
after a period of economic slowdown
or contraction.

Which of the statement/s given above is/are
correct?

(a) 1and?2 only

(b) 2and3 only

74.

75.

(31 -A)

(c) 1and3 only
(d) All of the above

Consider the following statements

Statement I: Consumer Price Index is
widely used for estimation of price changes
in an economy.

Statement II: CPI encompass all aspects
of economic activity, such as investments,
savings, or international trade along with
consumer prices

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-1

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is
Statement-II is correct

incorrect but

With
Multidimensional Poverty

India’s  National
Index (MPI),
consider the following statements:

1. India’s MPI has three equally weighted
dimensions — health, education, and
standard of living.

2. Other than the indicators used in Global
Multidimensional ~ Poverty
India’s MPI includes two additional
indicators - Maternal Health and Bank
Account.

3.  Headcount ratio of the MPI refers to
the proportion of individuals identified
as multidimensionally poor in the
population.

reference  to

Index,

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two
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(c) All three
(d) None
With reference to various curves and
indexes, consider the following statements:
1. The Phillips
relationship  between

shows the
GDP and

curve

inflation.

2. Laffer’s curve shows the relationship
between tax rates and the amount of
tax revenue.

3. Rahn Curve shows the relationship
between level of government spending
and economic growth

Which of the statement/s given above is/are
correct?

(a) 1and?2only

(b) 2and 3 only

(¢) 1and3 only

(d 1,2and3

With reference to Cash Reserve Ratio

(CRR) and Statutory Liquidity Ratio(SLR),

consider the following statements

1. CRR s calculated on the basis of Gross
Demand and Time Liabilities while
SLR 1is calculated on basis of Net
Demand and Time liabilities

2. There is no interest earned on CRR
while there is interest earned on SLR

3.  CRR is maintained with RBI while
SLR is held by banks themselves

Which of the statement/s given above is/are
correct?

(a) 1and?2only

(b) 2and 3 only

(¢) 1and3 only

(d 1,2and3

With respect to taxation, consider the

following statements

1. Duty to pay tax is a fundamental Duty
under Article 51A of the Constitution

2. Securities Transaction tax is a type of
Direct Tax that is levied by Central
Government

79.

80.

81.

(33 - A)

Which of the statement/s given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and?2

(d) Neither 1 nor 2

With reference to global economic situation,

consider the following statements:

1. An inverted yield curve shows that
long-term interest rates are less than
short-term interest rates.

2. A soft landing is a cyclical slowdown
in economic growth that avoids

recession.

Which of the statements given above is/are

correct?
(a) 1only
(b) 2 only

(c) Both1and?2
(d) Neither 1 nor 2

The practice of taking up secondary jobs
after work hours without informing or
taking consent of the current employer. is
known as

(a) Tang Ping

(b) Freelancing

(c) Moonlighting

(d) Quiet Quitting

With reference to Peer to Peer lending,

consider the following statements:

1. Peer to peer lending is also referred to
as crowdlending.

2. P2P-NBFCs lending is capped at 50
lakh.

3. P2P lending is regulated by SEBI in
India.

Which of the statements given above is/are
correct?
(a) 1and2only

(b) 2 only
(c) 1and3 only
(d 1,2and3
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With reference to double coincidence of

wants, consider the following statements:

1. It refers to simultaneous fulfilment of
mutual wants by producers and sellers.

2. Under the barter system there was the
lack of double coincidence of wants.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2only

(c) Both 1 and2

(d) Neither 1 nor 2

Consider the following statements regarding

the RoDTEP scheme:

1. It primarily addresses indirect taxes,
not direct taxes levied on exported

goods.

2. It violates the WTO’s principle of
National Treatment by favoring
exporters.

3. Its potential benefits for exporters
could be offset by countervailing duties
imposed by other countries.

How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Which of the following best describes the

structure of the Self Reliant India (SRI)

Fund for MSMEs?

(a) A direct government subsidy program
for MSMEs.

(b) A fund-of-funds for equity investments
in MSMEs.

(¢) A loan guarantee scheme for MSMEs
managed by private banks.

(d) A tax incentive program for MSMEs
investing in research and development.

Considering the characteristics of Zero
Coupon Zero Principal (ZCZP) instruments

86.

87.

(35 - A)

on the Social Stock Exchange (SSE),

which of the following statements is most

accurate?

(a) ZCZPs offer donors a fixed interest
rate throughout their tenure.

(b) ZCZPs with
voting rights in the Not-for-profit

provide  donors
organizations’ (NPOs) governance.

(c) ZCZPs prioritize transparency and
accountability over financial returns.

(d) ZCZPs function similarly to traditional
equity shares in terms of risk and
returns.

With reference to the Sacred Ensembles of
the Hoysalas, a UNESCO World Heritage
site, consider the following statements:

1. Hoysaleshvara temple at Halebid
is considered as one of the finest
examples of Dravida style of temple
architecture.

2. These temples are characterised by
their highly original star-like ground-
plans.

3. All three Hoysala temples selected for
the UNESCO World Heritage site list
are dedicated to Lord Shiva.

How many of the statements given above is/
are correct?

(a) Onlyone

(b) Only two

(c) All three

(d) None

With reference to the recently unveiled

“Statue of Oneness” depicting Adi

Shankaracharya, consider the following

statements:

1. The statue has built at
Omkareshwar in Madhya Pradesh,

the birthplace of Adi
Shankaracharya.

2. Omkareshwar is one of the twelve

been

which 1is

revered Jyotirlinga shrines of Lord
Shiva
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3. Adi
the philosophy of Vishishtadvaita or
Qualified Non-dualism.

Shankaracharya  propounded

How many of the statements given above is/

are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements regarding

PM VISHWAKARMA Scheme

1. More than 50 trades of artisans are
eligible, making it an all-inclusive
scheme.

2. At most 2 members from one family
can take benefit under this scheme.

Justice and

3. Ministry of Social

Empowerment is  the  nodal

implementing agency.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Which among the following statements best

describes the objective of PM-PRANAM?

(a) To promote and encourage online
pre-registration for visiting religious
shrines all over India.

(b) To enhance women’s health and well-
being through targeted interventions.

(c) To improve the well-being of elders

through  various social  welfare
programs.
(d) To reduce the use of chemical

fertilizers by incentivizing states to

adopt alternative fertilizers.

90.

91.

92.

(37 - A)

Consider the following statements regarding

Atal Pension Yojana

1. It is open to all bank account holders
in the age group of 18 to 40 years
who are not income taxpayers and
the contributions differ, based on the
pension amount chosen.

2. Subscribers can make contributions
only on a monthly basis.

3. Itisbeingadministered by the Employee
Provident Fund Organisation (EPFO)

How many of the statements given above
are correct?

(a) Onlyone

(b) Only two

(c) All three

(d) None

The recent discovery of the Herbig Haro

46/47 system has shed light on which of the

following aspects of stellar evolution?

(a) The formation of black holes from the
collapse of massive stars.

(b) The process of planets forming around
newly born stars.

(c) The role of supernova explosions in
enriching the interstellar medium.

(d) Insight into how much mass stars
gather over time.

What is the primary objective of the Green
Deposits Framework proposed by the
Reserve Bank of India (RBI)?

(a) Incentivize responsible waste
management practices

(b) Promote investments in environment-

friendly projects
(c) Facilitate financial inclusion
for  environmentally  vulnerable

communities
(d) Expand access to microloans for

sustainable agriculture
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IAEH! I STd WERae fauwd (ST
) el % "ol d, frefafed sweml W
foam wifsu:

1. 9Rd & 3@ & H, STE.ELTH. 2003
e Hi SR-THRI afafa (SE.Sh.
) & e & w9 ° I T R

2. VG HiEpidh Hey UREUg ARG
H STd WEpfdw faUEd ASH &
FHHEeEE % fau Aed T 2

3. ‘SN 1 TRel' Rl B B H AR
WA Wiwpfasw faead (ICH) 9=t o
e foRam = e

Sudt wel o ° ®E-U TE 2

(a) eel 1 3R 2

(b) ead 2 3R 3

(c) hee 1 3R 3

d 1,2 33

frefafed 4 9 sA-w ‘Se-sEda’ e

T GG TS TUA HILAT B2

(a) HHH TN T W fours =t &t
qisat | gigl

(b) it uRdl H R wigeH #1 Gea

(c) Toret Siferr e & @w2 & Wiy fomet
A T Higar 9 gfgl

(d) wgfa aRfeefaes o o sTerme gsufaar
1 TER|

frfafea smEyfrea | faar wifs:
HIE
TATI geft AR
TR T IEE

IR

R I e ol [

Swdh gl o 9 SiA-d g e
o e €2

(a) ad 2 3T 4

(b) a1 3R 3

(c) wad 3 3R 5

(d) wad 4 3R 5

R

96.

97.

98.

(38 — A)

frfafea wol w® foar wifaw:

HeA-1: TA & H, I WHR 7 T

SteAfergd IRETSHIS 1 ol & TR-TeftR

7 9 & ®9 H YA: fesmed & &1 i

femn 21

HIT-I1: diel o1 T (Ifed) T &R

Sgal W qen & & AM-UE & &F W

"Ach[{[cHen HHId 'qg Hendl %|

ST®w & & aR H, fefafed #

HH-T TH T ??

(a) FUA-1 R wA-11, T T & qen
FUA-11, FH-1 I FEl AR 2

(b) FUA-1 R FA-11, T T © qen
FHeA-11, HoF-1 1 Tel e TE B

(c) w¥A-1 W&l €, forg wmem-11 7o 2l

(d) weF-1 T B, Thq weE-11 el 2l

frefafed & 9 -9 ToEER S §iy

(1765) & Ufoma &?

1. TR ST 9T &1 =6E &

2. YEI-SE-3l 7 SeRER eserd- 11
i g femm

3. TmESARE-II 7 e i et < &
foT wEE S TR

4,  SAUSH A ofay w1 faeg =+ feam

(a) wad 2 3R 3

(b) e 1 3R 2

(c) e 3 3R 4

(d) e 2, 3 3N 4

frefafad fagel ® fer wifm:

1. fom X (FiERe ) 9 95|

2. WM HHEE & dqd iR uvH o
TR

3. 3ARA Sed & fau wfsdet # gfgl

Sudw o 9 sH-"y8 fag 3ga giva feg

fo T T = i wY HEN/H?

(a) Had 1

(b) e 1 3R 2

(c) haa 2 3R 3

(d) w3
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93. Consider the following statements regarding | 96. Statement I: Recently, the Union
the UNESCO Intangible Cultural Heritage government has redesignated the Large
(ICH) list: Hydro power as non-renewable source of
1. India has recently been elected to energy.
be part of the Inter-governmental Statement II: Dams may have negative
Committee (IGC) of the ICH 2003 effects on native plants and on animals in
Convention. and around the river.
2. Indian Council for Cultural Relations is Which one of the following is correct in
the nodal agency for the implementation respect of the above statements?
of the Scheme of Intangible Cultural (a) Both Statement-I and Statement-II are
Heritage of India. correct and Statement-II is the correct
3. "Garba of Gujarat" was recently explanation for Statement-I
included in the UNESCO Intangible (b) Both Statement-I and Statement-II
Cultural Heritage List. are correct and Statement—H is not the
correct explanation for Statement-1
Which of the statements given above is/are (c) Statement-I is correct but Statement-IT
correct? is incorrect
(a) 1and2only (d) Statement-I is incorrect  but
(b) 2and 3 only Statement-II is correct.
(c) 1and3 only 97. Which of the following were the
(d) 1,2and3 consequences of Treaty of Allahabad
94. Which of the following best describes the (1765)?.
term “Biomagnification”? 1. Mir Jafar became the Nawab of Bengal
. . 2. Shuja-ud-Daula surrendered Allahabad
(a) Increase in concentration of the
toxicant at successive trophic levels. to Shah Alam I L :
. . 3. Shah Alam II issued a farman granting
(b) Accumulation of heavy metals in the Diwani of Bengal
aquatic plants 4.  British annexation of Awadh
(c) Increase in the concentration of a .
. ) ) . Select the correct answer using the code
c.hemlcal in a biological organism over given below:
time (a) 2and3 only
(d) Spread of invasive species in polluted (b) 1and?2 only
ecosystems (¢) 3and4only
95. Consider the following wetlands: (d) 2,3 and4 only
1. Kolleru Lake 98. Consider the following measures:
2. Nalsarovar Bird Sanctuary 1. Increase in corporate tax rates
3 Keoladeo National Park 2. Increase in salaries and pensions of
4 Wular Lake . Igovernmel.lt empblo.}(llees.f . .
5 Loktak Lake . Increase in subsidy for increasing

©Copyrightt NEXT IAS

Which of the sites given above are included
in the Montreux Record?

(a) 2and4 only

(b) 1and3 only

(¢) 3and5 only

(d) 4and5 only

(39 - A)

production.

Which of the above measure(s), will reduce
revenue deficit without creating liabilities?
(a) 1only

(b) 1and?2only

(c) 2and 3 only

(d) 3only
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frafafes wuai ® fa=m Sifsa:
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% e 9§ ST fRar ST g 7

wmAA-11: AFE STferEl W Sfee Y et

= ° off ®ft 99E 6 B e
B R
THI-9 Th Tl 8?2

(a)

(b)

(©)
(d)

FHUA-1 3R weF-11, 3H1 W&l & au
HUA-11, HeFE-1 1 FE A 2
FUA-1 3R weF-11, 3H1 W&l & @
FHUA-11, FH-1 1 T = T R
FeH-1 et 7, fohq HeA-11 7o 2
FA-1 Tad 7, fhg weH-11 et 7

100. foa & Ged o, ‘o 9%’ 95 &7 31 7

(a)

(b)

©

(d)

(40 - A)

AT qeheileh aTed Wifder deh, S
Afosy & Yl (RERfes <) & 91U
i &9 ° Fard 9EH i
e Gt W fAfi fassiea
% fow i s (SRR SR
T e
3 Ao SfepT eYel ® Fesar 9§
T T T TR A T
et weH €
sTufeafa # faviy &9 ¥ i wE
FW 2

EEEE
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99. Consider the following statements 100. Inthe context of finance, the term ‘Neobank’

Statement I: Despite identical genes and refers to: ) ) )

shared experiences, identical twins can be (a) Physical banks‘ Wlth cuttlng-e‘dge

distinguished through a unique biological technology, offering in-person services

identifier. with a futuristic touch.
o (b) Decentralized financial institutions

Statement II: The intricate patterns on . .

: ) i _ built on blockchain technology,

human fingertips are never identical even in . .

. ensuring complete anonymity and

twins. . .

privacy for their users.

Which one of the following is correct in (¢) Subsidiaries of traditional banks,

respect of the above statements? seamlessly integrating digital and

(a) Both Statement-I and Statement-II are physical banking experiences to
correct and Statement-II is the correct provide customers with the best of
explanation for Statement-I both worlds.

(b) Both Statement-I and Statement-II (d) Financial institutions that operate
are correct and Statement-II is not the exclusively online without physical
correct explanation for Statement-I branches

(c) Statement-I is correct but Statement-II
is incorrect EEEE

(d) Statement-I s incorrect  but
Statement-II is correct

ANUBHAYV TIMELINE
1. | Challenge the Question anubhav(@nextias.com till 8th Jan. 2024 (4:00 PM)
2. | Result and Explanation Upload www.nextias.com 11th Jan. 2024 (5:00 PM)
3. | Test Discussion BT s Uriierel 14th Jan. 2024
YouTube Channel
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